INSTRUCTION

|.| |.| Part of the steps suggest
TIlT two people install




Main Components

Please check you have all the parts listed below

@ Bracket Qty 4 E Foot Qty 2
&>
& ~~
C~>
@ Tray Qty 1 @ 2m Power cord Qty 1 E Clamp Blocks Qty 2

Fixings, Fittings And Tools

Please check all the fittings listed below

Note: The quantities below are the correct amount to complete the assembly. In some case more
fittings may be supplied than be required.

@

I\/I6*15mm Screw Qty 8 M6*15mm Screw Qty 12 G ®16.5mm Washer Qty 8
(((((

®M8*40mm Screw Qty 8 @¢18.5mm Washer Qty 8 G M4 Allen key Qty 1

N Cy
7

@ M5 Allen key Qty 1 ‘B M6*65mm Screw Qty 4 o 25mm Bolt Spacers Qty 8



Assembly Step

Assemble brackets [3]to
legs [2] using fixings @) .

© . ©
¥ N

M6*15mm Screw Qty 8 M4 Allen key Qty 1

With help, place desk top
[1] upside down onto a
clean flat surface.

Ensure the surface is
suitably protected to
prevent any damage to

top[1].

Assemble legs [2]to top
[1]using fixings @ and @®.

Assemble feet [4]to legs
[2]using fixings @ and @.

Attention:
@ protect the table

(((([ top well
©

M6*15mm Screw Qty 8
((
® ® \/ ? &, ° &

@16.5mm Washer Qty 8| M8*40mm Screw Qty 8 | #18.5mm Washer Qty 8 M4 Allen key Qty 1 M5 Allen key Qty 1

0




Connect all the lines

correctly

Secure the tray [ 5] with
screw () to the bottom of

the table top

M6*15mm Screw Qty 8

"N

M4 Allen key Qty 1

o
0

G,

ME*65mm Screw Qty 4 If you feel the cable tray is too

° (o

low you can use the @ bolt
spacers and screw () to raise it,

you can use one or two of them.
25mm Bolt Spacers Qty 8




After powered on wait 15 seconds with no operation,
display screen will automatically go out and lock.
Then the desk needs to be reset before use:

Hold down the@key for 3 seconds to unlock desk.

Then at the same time, )
press@and @ keys for 5 seconds

2 to display - - = and then release,
\the desktop will enter the initialisation
mode and the desk will automatically run,

wait until it stops.
Reset is now complete and desk ready to use.

Another accessory

If you need a stand to attach to the
table, use clamp blocks , place it in
the space at the bottom of the table,
and clamp it with the stand to make
it stronger (note: the sponge side
faces the toughened glass).




Technical specification

VOLTAGE AC100V-240V /50-60HZ
RATED INPUT VOLTAGE 100V-240V
FREQUENCY 50-60HZ
RATED CURRENT 1.3A
NOMINAL VOITAGE 29V
OUTPUT CURRENT 2A
MAXIMUM POWER 58W
APPLICABLE AMBIENT TEMPERATURE -12°C to 45°C
USB & TYPE-C CHARGER ;SVV\\// ]:‘zrr %S(IEEC—Q)a?hea:rger
WIRELESS CHARGER 10 W for wireless charger
Features

e wireless charger
e height adjustable
eUSB model input

USB charger

l USB port

@@ma@@@@m@wm

e This template has two charging ports (Type-C+USB) both interfaces can charge electronic devices;
e Type-C Port: support PD super fast charging protocol, the maximum output power is 20W,;
e USB Port: support QC3.0 fast charging protocol, the maximum output power is 18W,

Notice: When two charging ports are charged at the same time, the charging power will decrease.




Wireless charging function

In the case of wireless charging compatible devices, please put the phone on the wireless charging

indicator and check if the phone is successfully connected to the charging function. If not, move the
mobile phone near the logo until the connection is successful.Wireless charging will only work with
wireless charging compatible mobile devices.

Wireless charger is made to the Ql standards and will charge any device that has Ql standard charging.

Support WPC Ql wireless charging standard. The Maximum output power is 10W.

()

wireless charging function

Some of the mobile phone models suitable for
Ql wireless charging are as follows:

Apple

iPhone 8 Series
iPhone X Series
iPhone 11 Series
iPhone 12 Series
iPhone 13 Series

iPhone SE2
iPhone SE3
iPhone 14 Series

Samsung

Galaxy S6 Series
Galaxy S7 Series
Galaxy S8 Series
Galaxy S9 Series
Galaxy S10 Series
Galaxy S20 Series

Galaxy S21 Series Galaxy Note20 Series
Galaxy S22 Series Galaxy Z Flip Series
Galaxy Note7 Series  Galaxy W Flip Series
Galaxy Note8 Series

Galaxy Note9 Series

Galaxy Note10 Series

Mate20 Series
Mate30 Series
Mate40 Series
P30 Pro
P40 Pro
Mate50 Series

XiaoMi

Xiaomi 9 Series
Xiaomi 10 Series
Xiaomi 11 Series
Xiaomi 12 Series
MIX Series



Operations

Key introduction

UP Key DISPLAY SAVE Key 1  SAVE Key 3 Dlsplay Windows

075 |= Height

ONOH R NIONORONO L |- Locked

E * *|=See Trouble
DOWN Key SET key SAVE Key 2 Shooting

\_ /

Lock and Unlock

e Lock: 15 seconds after no operation, display screen will automatically go out and lock. (You can also press
the @ key for 3 seconds to manually lock it)

e Unlock: long press @ key for 3 seconds to unlock the device.

UP and DOWN Function

e \When the@ key is pressed, the desktop runs UP until it reaches the highest point of the desktop.

® When the@ key is pressed, the desktop runs DOWN until it reaches the lowest point of the desktop.

Location storage/memory location query/memory location run

Location to store:

e When running to the desired height, short press@ key, digital tube display "§- ", while " - " flashing,
at this time press @/@/@ any key to store this position.

Memory location query:
® Short press @/@/@ any key, the display flashes the corresponding memory height.

Memory location operation:
e Double-click or long press any key of @/@/@, the desktop will automatically run to the height of the
\ memory location. During running, any key can stop running. /

Mechanical zero reset

e At the same time, press @and @ keys for 5 seconds to display " - - - " and then release, the desktop
will automatically enter the initialization mode, the table will automatically run, wait to stop, it means that
the initialization is successful.




Re learn the lowest point of machinery

After descending to the lowest position, long press the @key for 8 seconds. When
the display screen displays "---", release it, and the desktop will automatically learn
the lowest position. When the display screen displays normal numbers, the learning
process is over. (This operation will not initialize any settings, which can solve the
error code "5 / E B " or inconsistent table leg height)

N /

Sitting reminder

Turn on the Sitting alert:

Hold down @ + @ button at the same time for 3 seconds and the screen blinks to
display the time. CIick@to switch the duration (optional : 30 minutes / 45 minutes / 60
minutes). Switch to the desired time to start the timer.

End of time:

After the time of sitting reminder, the display will blink and display Chr for 1 minute.

If there is no other operation, it will blink again 5 minutes later. If there is no other
operation after repeating 3 times, it will automatically exit the sitting reminder
program. If you press @ button during the blinking period, the display will display oFF,
indicating that the sedentary reminding program is closed; if other keys are clicked, the
display time indicates that the timing program is restarted.

Manually turn off sitting reminders:

Hold down the (M) +(2) button at the same time ,for 3 seconds, and the display screen

will display the time. At this time, press the@ button and the display will be aFF,
kindicating that the sedentary reminder program is closed. Y.

Gyroscope anti-collision protection

Anti-collision protection with built-in gyroscope on the desktop. If the desktop collides
with obstacles or tilts during operation, the system will automatically stop operation
and move back a short distance in the opposite direction to prevent damage to human
body or objects. (Warm tip: Although the product has this function, please do not try it.
Please make sure that the path of the table is free of obstacles!

Turn on or off the anti-collision:
Hold down the @ + @ button for 10 seconds. When RLL is displayed, it indicates turn
off, when displayed ALY indicates turn on.

J

/




Error code table

A The column is not connected

Press the up button or down button again. It still exists.
Please check the motor line of pillar A

B The column is not connected

Press the up button or down button again. It still exists.
Please check the motor line of pillar B

A Column motor overcurrent

Press the up button or down button again. It still exists.
Please replace the motor A or reduce the load

B Column motor overcurrent

Press the up button or down button again. It still exists.
Please replace the motor B or reduce the load

A Hall failure of column motor

Press the up button or down button again, it still exists.
Please check the connection or replace motor A

B Hall failure of column motor

Press the up button or down button again, it still exists.
Please check the connection or replace motor B

=<0 LW ru

Abnormal main power supply

Unable to eliminate after power, replace the power
supply

A Column motor current is
abnormal

Unable to eliminate after power loss need to return to
the factory

£ CdC3CdCcd .0 Ccd .

B Column motor current is
abnormal

Unable to eliminate after power loss need to return to
the factory

C3J|wO | 3

A The power component of
the column motor is broken

Unable to eliminate after power loss need to return to
the factory

B The power component of
the column motor is broken

Unable to eliminate after power loss need to return to
the factory

Abnormal learning position Relearn position

Over temperature protection |Wait for the temperature to drop

Press the up button or down button again. It still exists.

A Column motor is stuck Please replace the motor A or reduce the load

Press the up button or down button again. It still exists.

B Column motor is stuck Please replace the motor B or reduce the load

Position imbalance Reinitializes the reset operation

Mmooy oy e ey e ey oy eme ommy omm

LN -
bt B | S Gy | N3 g Y

lllegal power o Reinitializes the reset operation




Trouble shooting

When a failure occurs, please refer to the following solutions, find out the presumable causes
and solve the problem, if these are of no help, please refer to a professional.

PROBLEM PROBLEM CAUSE REMEDY
Power plug not inserted properly. The jack must be electrical.
No power display |There is no power in the socket. Press the plug.
The power is not switched on. Turn on the power.
ol Power not connected. Check power is connected and on.
No wireless Mobile device does not have wireless charging| Check your mobile device has wireless
charging function. charging capability.

Disposal

4 N

D¢

mmmm |f disposal of this product becomes necessary, please do this in an environmentally
responsible way. Contact your local government office or authority for suitable disposal or
recycling options in your local area. Do not dispose of this product, or it's components, with

your general domestic waste.
N J
Contact the aftersales manager of the store where you purchased

WARNING

1. This appliance is not intended for use by persons (including children) with reduced physical,
sensory or mental capabilities, or lack of experience and knowledge, unless they have been
given supervision or instruction concerning use of the appliance by a person responsible for
their safety.

2. Children should be supervised to ensure that they do not play with the appliance.

Purple London Ltd
Suite 3 Langford House
7A High Street
Chislehurst
BR7 5Ab

www.puruslife.co.uk



